 №1№1[image: image1.png]‘Pemnre ypassenme +/2 sin 2x+1=0 uHATHTE BCe KOPHE, IPHHA TTEKATIHE IDOMEAYTEY

EY




[image: image2.png]-
Pemmre ypasmenme Zsin‘kx

[£4

3
ZJ+1 =0 HHAHTATE 5Ce KOPHE, MPHHATTEXAIHE IPOMERYTEY




[image: image3.png](, 1)
Pemmre ypasserne J'cos 3x——— |-1=0 mrafizare Bce KopHY, MpHEATICAKAIHE

W

mpoMeEyTRY





[image: image4.png]e
Pemmmre ypasserme sin > cos— = 0.5 mafTATe sce KOpHE, IPREAICKAE TPONEAYTEY

] '




[image: image5.png]Pemmre ypazmerze /8 cos® §+1 =2 umafizuTe ce KOpHH, IpHHATIEKANIHE NPOMEXYTEY

[





[image: image6.png]5

. S
Pemmre ypasserme fsm)::tcos;i» sin

2) T BAHTATE BCe. KODHH, IHHATTEXAmHE

1T
moseaymy | ZLisx




[image: image7.png]Pemure ypasserue 2€0s’ X +7Sin X = 8 B Hali1uTe BCe KOPHH, IPHHA VI XAMIHE IPOMEKYTKY
[ 2.57]



[image: image8.png]Pemure ypasmcame3cos 2x +4sin
[~z 05,

1 s HadTe Bce. KODHH, IDHEATERAINE IPOMEAYTEY





№2

[image: image9.png]Pemure ypasserme sin| 2x-+

2

e (-5

—3sin(x~37)=1+2sinx ®EafmaTesCe KopHA

e





[image: image10.png]Y 2
Pemnre ypazsenme (ﬁn%w%) —sinx=cos’ x—1 mmafiaTe ECE KODHE,

e Ramme rpovexyTEy [~7:7]




[image: image11.png]Pemure ypasresme 2sin’ x+(2— /2 |cosx+42 —

sz in
orpesy | S





[image: image12.png]1 z
Pemure ypasscame —— +3fgx—5=0. VEaxHTe KopH, IPHEATICKALE OTPEIEY [ n‘?:|
cosx 7




[image: image13.png]2 1

g'x tgx

Pemure ypasserme

0. VEaarTe KOpEH, MDHER TTERATE OTPEIEY.





[image: image14.png](> 13 (2z -
Pemure ypassenme sin| 2x—— | +cos| T+2)|: — 0 maizure Ece KopHR.
" 8

————




[image: image15.png](Bz . )
Pemmre ypasserne slnL s +)|:} COs x 1 HaiTHTE BCE KOPHH, IPHHAIEKAIIHE IPOMEKYTKY

&





[image: image16.png]Pemmure ypasserue 7sin’ x+4sin xcos x—3cos’ x = 0. VKaxuTe KOpHH, IpHEATTEKaTHE

o=
23





[image: image17.png]Pemmre ypazmerze /8 cos® §+1 =2 umafizuTe ce KOpHH, IpHHATIEKANIHE NPOMEXYTEY

[





[image: image18.png]5

. S
Pemmre ypasserme fsm)::tcos;i» sin

2) T BAHTATE BCe. KODHH, IHHATTEXAmHE

1T
moseaymy | ZLisx




[image: image19.png]Pemure ypasserue 2€0s’ X +7Sin X = 8 B Hali1uTe BCe KOPHH, IPHHA VI XAMIHE IPOMEKYTKY
[ 2.57]




[image: image20.png]Pemure ypasmcame3cos 2x +4sin
[~z 05,

1 s HadTe Bce. KODHH, IDHEATERAINE IPOMEAYTEY





[image: image21.png]‘Pemrmre ypassterme sin x = 2fgr W EANTHTE Bt KODHH, IDHEATIEAAIHE TPOMEAYTEY

e




[image: image22.png]Pemmute ypasserue cos 2x+ 2cos’ x—sin 2x =0 . VKaxuTe KOPHY, NPHHAIEXAMHe OTPE3KY

3z 5m
272





[image: image23.png]Pemmre ypasserme Ssin® x—3 cos? x=2+ 7sin 2x. VEaKHTe KOPHH, IPHHAITEXAIIHE OTPEIKY

=



[image: image24.png]%
Pemmre ypasmerse 2 cos’ = —3sin

{z—;)ms}(zz—;}r 7sin?
\

3m 5w

e T

(x

—57|=3. Yrazare



[image: image25.png]Pemure ypasscane 3sin2x—4 cos x+3sin x~2=0. VxaxuTe KopHs, IpHRTICKAE

—
22



[image: image26.png]Pemure ypasmeame sin 3x+sin 5x =sin 4 nHaiAHTe BCe KOpHS, IPHEAVICKAIHE
movesyny [ 2.57]




[image: image27.png]Pemmre ypasHerHe oS X—C0s3x
mpoxexymy [~z 37]

in4x wHaHTATe SCe KODHH, MpHEATTERAMHE




[image: image28.png](3w
T e e T

L5

=]
S




[image: image29.png]Pemmre ypasserme sin’ x— cos’ x+sinx—cosx=0 HHai{IHTe BCe KODHH, NPHHEAFIEXKAITE





[image: image30.png]Pemure ypasscame 2sin2x+2sin x—3=6cosx HHAAIHTE BCe KOPHS, MPHEAVICKAITE

i




[image: image31.png]‘Pemmure yparsmerme cos 2x =2 (cosx+sinx) mHafitaTe Ece KODHE, NPHEATTERAMHE

mouesymy [<47 7]




[image: image32.png](I, .
Pemure ypassenme cosx=5| cos —sin | mmafmre sce xopmm, mpmmTIexanme

1

5

7]

IpoeEyTRY. [1 iz



[image: image33.png]Pemute ypassenue sin’ x—cos’ x+sin’ xcosx—sinxcos’ x=0 ®Hai{1HTe Bee KOpHH,
mpmaTTexamme mpoexyTEy [~ 77]




